' BLfTZ ‘
| COMPRESSOR)]

VItZz NCP13
TOYOTA

PLATZ NCP12

BL/TZ










ASSY W
ASSY W
ASSY W



OooOoooag

OOoOoO0oOoano

BLITZ COMPRESSOR SYSTEM

TOYOTA itz

NCP13 M

INZ-FE

2000 10 2005 1
10152

TOYOTA PLATZ

NCP12 M WD
INZ-FE

1999 8 2002 7
10152



mm

mm

mm




24

36

23

35 0

22

34

@it

21

33




M6x 16 7 M6x 35 2 M8x 20 1 M8x 30 2

M8x 35 1 M10x 251 M10x 351 M10x 55 3
M6x 25 2 M8x 20 2 M8x 30 2 M6 6
M8 2 M10 2 M10 3 M6 5
M8 3 M8x 45 1







10



11



12



13



14






16



_,-—-r

i r_'_|- :

17



18



19



20



21



Fa=ThFa-=7F
e

[« RIREE

Fa=TRlsF
Fa=

ayaF

Fa=za#seay
F=}

22




No2

ASSY W

ASSY W

ASSY W

23






25




10]o[8]7]6[5]4]3

10{9]8}7[6[5{4]3

26125|2

S

23[22]21[20]19]18{1716

21j2ol19]18{17]16]15[14{1

| =

1w

et L LTl

! |?|5|5|"|:|=|T|
l:r aishalslnhols e [HDENNRDNSE00
EIEEMEE SRR

Rl ) [l

ibd 1) 6l 1) s

26




27




PK

28




29



30



31



BLsTZ



